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28 >7—>3—>4—>1—>9>10~>5->12—>6—> 11 ¢5,C10
A knot diagranﬂ Cr C2 €3 € €8 Cg C4 Ci2 Ce C11 ’

Ideals for irreducible component#ﬂ)f Xpar

I =(w?—u™ 4+ +2u—1)

* 1 irreducible components of dim¢ = 0, with total 72 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIP=@W?—u™ 4. +2u—1)

(i) Arc colorings

w- (1)

1
ag = 0

1
a7 = U2

U

a3 = u3 + U

—u3
ag = \uyd+u

ud
a; = (u5+u3+u>
wWHul+ut+1
ag = \u'% 4 2u® + 3u + 2u* 4 u?
C 16 314 o Bg12 410 _ 8 4

a1o = \u'® + 4u!* 4 8u'? + 10u'° + 8ud + 6ub + 4u* + 2u?

u? +6u?" - —2ud —u
as= \—u29 7027 4 ... 3 4y

wl + 20t + 30 + 2u”T + 22U + 20t +u
a12 = \ 15 4 3u!3 + 6ul! + 7u® + 647 + 4u® + 2u + u
—u —B5u?t .~ 1

ag = \ —u? —6u%0 + - — 8ub — 3u?

—u™ — 15u%8 4. —2u% + 1
a1l = —u71—|—u70+~--—|—2u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ — 4u% + ... +4y® — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! w433+ —du 1
C2, C7 u? a4 2u—1
3 uW?—ut 4 —16u—5
C4,Cg, Cy w4+ 134w — 17
Cs,C10, C11 WP —ut 4+ —2u—1
cs, C12 u™ +5u™ 4 - — 200u — 112




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
a1 Y+ 13y 4 —ddy + 1
C2,C7 y?+ 33y 4 — Ay 41
€3 Yy =Ty 4. — 2136y + 25
C4,C6, Co Yy — 67yt + - — 1296y + 289
Cs,C10, C11 Yy P 5Ty b Ay 1
cs, C12 Y™ 4+ 45y + .- 4+ 601312y + 12544




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.172419 4+ 0.9914261

—1.44608 — 0.989581

—12.61715 4 4.901731

0.172419 — 0.9914261

—1.44608 + 0.989581

—12.61715 — 4.901731

= —0.318135 + 0.9094901 —0.68624 — 1.382521 —7.50677 + 4.409041
= —0.318135 — 0.9094901 —0.68624 + 1.382521 —7.50677 — 4.409041
= —0.092850 + 1.0358601 3.48317 4 2.966581 | —8.00000 + 0.1
= —0.092850 — 1.0358601 3.48317 — 2.966581 | —8.00000 + 0.1

0.451317 + 0.7956581

4.06665 + 1.954321

—1.34897 — 3.981861

0.451317 — 0.7956581

4.06665 — 1.954321

—1.34897 + 3.981861

—0.334405 + 1.0340301

—0.352842 — 0.7543321

0

—0.334405 — 1.0340301

—0.352842 + 0.7543321

0

—0.711256 4 0.5682191

2.51457 — 7.385571

—3.77605 + 5.978331

—0.711256 — 0.5682191

2.51457 4 7.385571

—3.77605 — 5.978331

0.695101 4+ 0.5704671

—1.80575 + 3.087651

—8.13416 — 3.508961

0.695101 — 0.5704671

—1.80575 — 3.087651

—8.13416 + 3.508961

0.734062 + 0.5019461

8.75219 4 2.025271

0.78996 — 3.110411

0.734062 — 0.5019461

8.75219 — 2.025271

0.78996 + 3.110411

= 0.423779 + 1.0308201 —3.02780 + 3.225981 0
= 0.423779 — 1.0308201 —3.02780 — 3.225981 0
= 0.188200 + 1.1028201 —3.98290 + 1.238751 0
= 0.188200 — 1.1028201 —3.98290 — 1.238751 0

—0.668416 + 0.5723851

1.69424 + 1.194771

—4.64927 — 0.126381

—0.668416 — 0.5723851

1.69424 — 1.194771

—4.64927 + 0.126381

—0.757496 + 0.4460471

8.45065 4 4.719101

0.04795 — 3.894511

—0.757496 — 0.4460471

8.45065 — 4.719101

0.04795 + 3.894511

= —0.173483 + 1.1082801 —7.57950 + 3.247081 0
= —0.173483 — 1.1082801 —7.57950 — 3.247081 0
= 0.161280 + 1.1116901 —3.31379 — 7.692941 0
= 0.161280 — 1.1116901 —3.31379 + 7.692941 0

0.777942 + 0.3960341

1.59745 — 10.029101

—4.83717 + 5.892761

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

0.777942 — 0.3960341

1.59745 + 10.029101

—4.83717 — 5.892761




Solutions to I} v—1(vol + /—1CS) Cusp shape
= —0.564081 + 0.9806781 0.48282 — 5.986897 0
= —0.564081 — 0.9806781 0.48282 + 5.986897 0

—0.770444 4 0.3896641

—2.75389 4 5.607821

—9.09073 — 3.482631

—0.770444 — 0.3896641

—2.75389 — 5.607821

—9.09073 + 3.482631

= —0.702506 + 0.4782051

3.31998 — 0.347361

—3.96101 + 3.814261

—0.702506 — 0.4782051

3.31998 + 0.347361

—3.96101 — 3.814261

0.758581 + 0.3827131

0.727256 — 1.1403501

—5.89808 + 0.038341

0.758581 — 0.3827131

0.727256 + 1.1403501

—5.89808 — 0.038341

= 0.726636 + 0.4382101

3.10145 — 2.708361

—5.06584 + 4.867241

0.726636 — 0.4382101

3.10145 + 2.708361

—5.06584 — 4.867241

U
U

U

U

U

U

U

U

U

U

u = 0.589755 4 0.9971821 —3.06999 + 1.863501 0
U 0.589755 — 0.9971821 —3.06999 — 1.863501 0
u = —0.499108 + 1.0477601 0.74579 — 5.901241 0
u = —0.499108 — 1.0477601 0.74579 + 5.901241 0
u = —0.602770 4 1.0041507 1.22167 + 2.347391 0
u = —0.602770 — 1.0041501 1.22167 — 2.347391 0
u= 0412148 +1.1192101 —6.27521 — 0.700521 0
u= 0.412148 — 1.1192101 —6.27521 4 0.700521 0
u = —0.422158 4 1.1204701 —10.15880 — 3.840961 0
u = —0.422158 — 1.1204701 —10.15880 +- 3.840961 0
u = 0.431683 + 1.1204501 —6.14371 + 8.374081 0
u= 0431683 — 1.1204501 —6.14371 — 8.374081 0
u = —0.581035 + 1.0593401 1.60163 — 4.593871 0
u = —0.581035 — 1.0593401 1.60163 + 4.593871 0
u = 0.602211 4 1.0523107 7.11960 + 3.070951 0
uw= 0.602211 — 1.0523101 7.11960 — 3.070951 0
u=0.585230 + 1.0809201 1.20694 + 7.723051 0
u = 0.585230 — 1.0809201 1.20694 — 7.723051 0
u = —0.599587 4 1.0850801 6.55743 — 9.863101 0
u = —0.599587 — 1.0850801 6.55743 + 9.863101 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
= 0.582885 + 1.1088301 —1.41051 + 6.215781 0
= 0.582885 — 1.1088301 —1.41051 — 6.215781 0
= —0.588616 + 1.1102601 —4.88283 — 10.735901 0
= —0.588616 — 1.1102601 —4.88283 4 10.735901 0
= 0.593040 + 1.1104501 —0.5179 + 15.19391 0
= 0.593040 — 1.1104501 —0.5179 — 15.19391 0

0.647464 + 0.0251541

—3.10856 — 4.459321

—8.81823 + 3.382921

0.647464 — 0.0251541

—3.10856 + 4.459321

—8.81823 — 3.382921

—0.647786

—7.05606

—12.6660

—0.511650 4 0.2390121

2.81969 + 1.843871

—4.86066 — 3.978801

—0.511650 — 0.2390121

2.81969 — 1.843871

—4.86066 + 3.978801

0.376318

—0.707375

—13.9230




II. u-Polynomials

Crossings u-Polynomials at each crossing
“ w4+ 33u™ o —du 1
C2, C7 u? Fu™ = 2u—1
€3 u? —u™ 4~ 16u—5
Cq,Cg, Co w4 u = 134u — 17
C5,C10, C11 W —2u—1
cs, C12 u? + 50+ —200u — 112




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 Y2 413y o — 4y 41
Ca,Cr y P33y 4y 1
€3 y™? =Ty 4+ — 2136y + 25
€4, Cg, Co Yy —67y"t + - — 1296y + 289
5, €10, C11 Yy 57y e —dy + 1
Cs, C12 Y2 +45y™ + .- 4+ 601312y + 12544




